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ALGORITHM




OPERATING SYSTEM

DEADLOCK

WITH FINITE NUMBER OF RESOURCE,
THE PROCESS CAN BE AT WAITING
STATE AND NEVER ABLE TO CHANGE
ITS STATE, THAT IS CALLED
“DEADLOCK”
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BANKER'S ALGORITHM

e FOR MULTIPLE INSTANCES OF EACH
RESOURCE TYPE

e LESS EFFICIENT THAN RESOURCE
ALLOCATION SCHEME

e KNOWN FROM BANKING SYSTEM.
ENSURING THAT THE BANK WILL NEVER
ALLOCATED ITS AVAILABLE CASH IN
SUCH WAY THAT IT COULD NO LONGER
SATISFIES CUSTOMERS
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L E EXAMPLE
Lo oe CASE

14 12 13 . PROCESSES - 3

e RESOURCES =3




Vector: [13, 9, 2]
Vector: [1l3, 12, 2]
Vector: [13, 12, &]
Vector: [l4, 12, &]
Vector: [l4, 12, &]

Vector: [l1l4, 12, 10
Vector: [l14, 12, 10]
Vector: [l1l4, 12, 10
Vector: [l14, 12, 13]

System 13 1n a safe

gzes: [ pl pl pl
cess finlished wit
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EXAMPLE
CASE

e THE SAFE-STATE WITH
e« THE PROCESSES OF
e [ PO P1 P2 ]
]
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